1. Choose the Venn diagram which best 1. Ry my yyq # 3 37 M@ F s Hifvw, <
;]i:;a:;::s: the three given classes in the 3 ant ) watam sgrem HA ¥
Gold, Omament, Silver I, s, "
@ o0
A) B), ©) (D) (A) (B) (C) (
2. 2019-2020 % e § T
@ Around __ people are associated with WM FR AR g il
:f}nc;xéture in Haryana (2019-2020). (A) 16% (B) 330/5\/
% (B) 33%
(©) 25% (D) 51% <. 2b% ),
3. Basically the Haryanvi language is 3. TR o R e few gEa @ w1 @
considered as the form of which F9 M ST R7
main dialect? (A) e v (B) el
(A) Kauravi (B) Pali fafia
(© Bhojpuri (D) Mixed N o
4. Which is not a food crop from the - TRCTRISIRT L3 W T v WA
following? (A) =Ea (B) W@V
:g)) ::u :E: ;ca (C) wem (D) sh
arley i
: 5. & g smfa :
F:md the missing character from the a ijﬂ“ mgmai
given figure : Q% T S
T,IN8 W3 | 15°0|2Y4
W D
3115 10| ?
o J ]fo
NIo| 2 4 T
T G 2%
& & (A) S @)/ 9
S 1 :g)) ?3 (©) 11 (D) 13
6. ‘Is'ttx: longitudinal extension of Haryana o A) 7‘?::“@ - QA t i
te is 28’ WA R’ 77°36" Gl Tmiew
(A) betnvm'm 74°28’ East longitude to e i
77°36’ East longitude (B) 74°28" Yl WM X 77°36° wfanh v
(B) ;:;tv;gct;, 74°28’ East longitude to ¥ we
°36’ West longitude C) 71°28* TR ) -
(C) ?;h;gm 71°28’ East longitude to = F Ay Tﬂ . o ‘Eﬁ
°36’ East longitude . ER T
(D) between 77°28° East longitude to ©) ;7-3: ™ 8428’ e
84°28’ East longitude et :
7-F'in::ltheoorrectaltcmative from the 7-mﬁﬁ'ﬂﬁﬁqﬁﬁﬁmmw
options given below : : R . e i us
. 5:124::7:?. '5:‘12.4:.:‘_'7‘:‘_?'_--~_ ’ ‘P’f L
s Ias B) 248 W15 o gy gl 7&1‘}
(©) 342 © (D) 343 S IR D B
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@'he time taken to cover (D+11)km
upstream is thrice the time taken to

cover (D~ 3) km downstream, If the ratio
of speeds of boat in upstream to the
downstream is 3:7 and time taken
to cover (D+18 km downstream is
2'S hours, what will be the speed of

current?
(A) 4 km/hr (B) 6 km/hr
(C) 8 km/hrv” (D) 10 km/hr

n which of the following places, the
Food Park is not being set up?

(A) Narwana (Jind)

(B) Rai (Sonipat)

(C) Saha (Ambala)

(D) None of the above

10. The Permanent President
Constituent Assembly was
(A) Dr. Ambedkar
v1B) Dr. Rajendra Prasad
(C) K. M. Munshi
(D) J. L. Nehru

Who among the following has received
the title of Vocal Emperor (Swar
Samrat)? .

(A) Johrabai (B) Kallan Khan
\£) Pandit Jasraj (D) Haddu Khan

Directions (Q. Nos. 12 and 13) : Read the
information given below to answer the
questions that follow :
I. Px@'means Q is mother of P

[I. P+Q means.P-is brother of Q

II. P-Q means P is sister of Q

IV. P+Q means Q is father of P
12. Which of the following definitely means

X is grandson of D ?

(A) A+XxH+D

(B) A-XxH+D

(C) Can't be detennined‘-/

(D) None of the above

13. Which of the following is superfluous to
answer the above question?
(A) 1 only
(B) II only
(C) UI only
(D) None of the above

. A merchant purchases a wristwatch for
¥450 and fixes its list price in such a
way that after allowing a discount of
10%, he earns a profit of 20%. Then the

of the

list price of the wristwatch is

(A) ¥650 ' (B) ®700

(C) ¥550 (D) ¥600
/3-C

w9 e R AR FeEva® /@ FIHETE
H 3 @ N 1Rt w oagmm 3:7 2
(D+18) km RNTFAR 25 R T
g @ ¥, A umo A fy w=n Af?
(A) 4 km/hr (B) 6 km/hr
(C) 8 km/hr (D) 10 km/hr
9. Frafifan & ¥ e wm W 32 o wfim
Tt e s @ &7
(A) @ ($ff)
(B) T (wrfiwa)
) HTE (IrEe)
(D) I94w A A = 7
10. dfyum 81 % o wegg 9
(A) Tfo e
(B) Tfo TNz YHE
(C) %o o FHht
(D) So To E®
11, 78 3 52 et wme’ i 3o ym g 7
(A) g @l
ufidd S@= (D) R @l

Py (v de 12 3R 13) : R Rum vl F s 3
% forw Fo it =1 g
I. PxQ#E A4 R Q, PHum
. P+QFIMRP, QW W R
M. P-QF 3R P, QRN =R
IV. P+OQ®F 3R Q PF fmr 2
RfAiIIFmm R ait s x b=
Gren B7
(A) A+XxH+D
(B) A-XxH+D
() Truifa 7d # =
(D) I # | #id T
13. IR YA F IW N F fow Fefofes § 3
PH-T1 IS &7

u(y
(A) ¥l QE;“ %
(B] ¥w Il 125
) e 1
(D) IF® & R Hg T
14, 76 SN T Fa 99 F €450 ¥ @lew
mﬁmﬁwm%ﬁﬁam%ﬁ
10% T & AR TR 20% H AN FHAEA
] mﬁ@m@t{a%
) ¥650 (B) ®700
(C) 550 (D) *600
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18. In which book Haryana has been coined
as ‘Bahudhanyaka’ (Multilayer State)?
(A) Ashtadhyay
(B) Matsya Purana
\{C) Mahabharata
(D) Ramayana
16. The Bhawani Amba Mandir’ is situated
in which district of Haryana?
(A) Panipat
(B) Kamal
(C) Ambala
(D) None of the above
@_ Which Article of the Indian Constitution

is related with the protection of the
interests of the minorities?

(A) Article 17 (B) Article 29 /"
(C) Article 30 (D) Article 31
Directions (Q. Nos. 18 to 20) : In each of the

following questions, select the related letters/
number from the given alternatives :

18) 2 : LAMZ :: RANK : OcKM

(A) OPXY v (B) ‘'OYPX
(C) OCpx (D) XocPp
19.6: 15 : ? : 45 s
A 21 (B) 18
€ 11 (D) 24
20. REAK : AEKR :: ? . POSE ¢OPS
\_{A) EOPS (B) POES
(C) OEPS (D) SOPE
@]j x+§=], then the value of ALta =%
142G _—ry ! =
> T atet 3T 2Pirie A paigate
byad- . E‘————z_a)g |
a4l is
PN W @ -2
o N 2
© E‘/ (D) _g

E - Who was the founder of ‘Haryana Vikas
Party’ in Haryana?

“1A) Chaudhary Bansi Lal

(B) Chaudhary Mohan Lal

(C) Chaudhary Charan Singh

(D) Chaudhary Devi Lal

The headquarters of Southeastern
Railway is located at

A) Chennai

B) Mumbaj

(C) Kolkata

"BJ/' Secunderabad

~ ac

i 1 1%
"{ -
MJ

4

. (g s
(A) e
(B) & JT
(C) warmd
(D) 7T ,
loltmmqﬁ-{ m#ﬁﬂ&ﬂn
fom ¥7
(A) T
\MB) FETE
(C) =T
(D) 374w # & #ré 7 .
17. vt SRR F1 FH-G1 ATRE ACTHEAH
¥ fidt 7t g @ weafta 7
(A) 3F=e 17 (B) =% 29
(C) ¥q=3% 30 (D) g% 31
&y (s 6o 18 @ 20) : Frefifaa v 3 4 Ry
¢ fasedt A wrafRa e /de & 951 Fifl
18. ? : LAMZ :: RANK : OCKM
(A) OPXY (B) OYPX
(C) OCPX (D) XOCP
19.6:15::?:45
(A) 21 (B) 18
€ 11 (D) 24
20. REAK : AEKR :: ? : POSE
(A) EOPS (B) POES
(C) OEPS (D) SOPE
21 IR x+ 217, 7 ot
X
x2+x+a
- S
FAA R
A) -2 _a
@) ) ® -2
© = D) -2
a a
22. g?tmn A ‘ehamn e T ¥ s @
(A) b T
(B) <l Hgverm
(C) <hwtt wrw firg
(D) =t e
23. - TR
TR R o gl
O vt
(D) Tedherrar
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g

fc v
(@) BL and CM ere the medians of

triangle ABC right-angled at A, then
4(BL* +CM?) is equal to

(A) 2Bc? (B) 3Bc2\)(
(C) 4BC? v (D) SBC?

25. National Dairy Research Institute is
situated in district of Haryana,
4A) Karnal (B) Kaithal

(C) Faridabad (D) Gurugram

Thc sheet of paper shown in the figure

given on the left-hand side of problem is
folded to form a box. Choose the correct
alternative which will truely-represent

the position of various numbers/
symbols/letters :

—~ B
a o
c
D|B| D-
E
F
C A C B
E D C B E A F A
2'? N 48 By
.Which _Schedule of the Indian
Constitution is related to Panchayati
Raj?
(A) - Schedule 11
(B) Schedule VIII
(C) Schedule X

UP) Schedule XI

Directions (Q. Nos. 28 to 32) : Each of the
following questions is based on the

given arrangement. Study the arrangement
carefully and answer the questions given
below :

MSN@PK$9EF% 1W3&QJA#L2THS*BGO41Z60S7

28. What should come in place of question

mark (?) in the following series based on

the given arrangement? . <
N@K EF1 &QA 2T5 ?

(A) Gol (B) BG4

(C) TH* (D) ©4Z

/3-C

24, 7R BL 3t cM B ABC, A T TR, H
e, &, & 4(BL? + CM2) 7T A
(A) 2BC? (B) 3BC?

() 4BC? (D) 5BC?

26. A gy sgavA e s % B
# mga!n
(A) T
(C) wiEmEm®

(B) %ud
(D) TeI™

26. T TE RU M AR i wam 5 @
AigH A T ™ ¥ 3 frwe w1 999
Hifre 1w 7 F Rifvm Ho /Rt 3l ¥
f&:ﬁ:aﬁmhl%

A

C

D

m

C
E

A
C

C
E

B
F

(D)

27. W Efaum i FA-h g fad =R
g ¥7

(A) FFEsh I
(B) I VI
(C) ¥ggsh X
(D) ¥R X1

éw (w0 28 % 32) : R s AR A
T YU R IR § | A T AR
e i st vt ¥ I AR

M8N@PK$IEF%1 W3&QJA#L2THS* BGO41Z60S7
28. Ry Ty SraRymm % IR R Rt Seen

(A) (B) (©)

% AT W (7) % WA R W A TR
N@K EF1 &QA 2T5 ?
(A) Ger (B) BG4
(C) TH* (D) ©42
) [ P.T.O.
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-~ X 1 \{
Lem U =29

@Haw many such vowels are there in the
(__~ given arrangement, each of which is
immediately preceded by a consonant
and also immediately followed by a

symbol?
(A) Oney (B) Two
(C) Three (D) None

0. Three of the following four are alike in a

" certain way on the basis of the given
arrangement. Which is the one that
does not belong to the grou\;y
(A) SP@ (B) ©z*

~ (€ 3J% (D) 2AS

@' How many such numerals are there in
the given arrangement, each of which is
immediately preceding a Wby?
(A) One (B) Two
(C) Three (D) None

% How many such symbols are there
in the given arrangement, each of which
is immediately preceded by a number
and also immediately followed by a

consonant?
(A) One\/ (B) Two
(C] Three (D) None

33. What is the State Bird of Haryana?
(A) Parrot
1B Black Francolin
(C) Kingfisher
(D) None of the above
34. The least distance of distinct vision for
human eyes is
{A) 25 cm B) Scm
(C) 75 ecm (D) 100 ecm
In the following question, which of the
following cubes in the answer figure (A),
(B), (C), (D) cannot be made based on the
unfolded cube in the question figure?

Q

[- -]
+[e
[- N ]

SEE

s 2
™ (B2 (B °.:

% (@)

()] o) [v [P

/3-C 6

frm = 8, Rl R
T o e
ar F viiE’ 2
A) T (B)

srgearFn ¥ smun ® Frefefen w3

30. faw m i
A 47 T3 1@ 7% T TE F 81 T T I
g.ag‘;ﬁmﬁmwﬂt? ‘

(A) $F@ B) €2

(C) 3J% (D) 2AS

srearFa A v fead e 2,

31'?§;@mamw@ma?

A) TH B) A

(©) A (D) Fr§ 78

; wFeEe 4 W@ PR vl g, e
> Eémwﬂ:mwé@éwm?ﬁtm

% UF G

(A) TH B) A

(C) d= (D) I3 T

33. gEmn 1 U9 vl F 27
(A) e
(B) rem dier
(©) fefrm
(D) 3% & 4 F5 7

34. WA 9y ¥ e g A 2man g 3
(A) 25 cm (B) 5 cm
(C) 75 em (D) 100 cm

35. 7H-aTFf 4 ol T g W F amuw w
A (W), (B), (C) 3 (D) 8 =

©

@

+|ze7]

B
7]

=
-
A |[{ 9 ® %:

© [©

0 [ @

\ 2
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36. Who among the following players is not
related to the wrestling game?
(A) Yogeshwar Dutt
(B) Geetika Jakhar
AC) Ajmer Singh
(D) Krishan Godara

G?) The acid in the gastric juice ig
“ Al acetic acid
(B) nitric acid
* (C) hydrochloric acid
(D) sulphuric acid
38. Haryana Government offers meals at
“ subsidised rates for workers under
Yojana.
(A) Antyodaya Aahar
(B) Antyodaya Anna
(C) Khadhya Suraksha
(D) Anna Suraksha

39. Which is the largest flower in the world?
(A) Lotus
(B) Sunflower
\U€) Rafflesia
(D) Glory Lili
The length of the diagonal BD of the
parallelogram ABCD is 13:5 cm. If P and
Q are the centroids of the AABC and
AADC respectively, then the length of
the line segment PQ is
(A) 6 cm LBy 1'5 cm
(C) 45 cm (D) 3 cm

41. Two centres of the CIPET will be set up
in the ____ of Haryana.
(A) west and south
“{B) north and east
(C) south and west
(D) west and east

@. Bone forming cells are
\1A) osteoclasts
(B) osteoblasts
(C) chondroblasts
(D) chondroclasts

- Which of the following award(s) has been
introduced by Buupinder Singh Hooda
Government (2018) in the field of
Literature? -
(A) Haryanvi Award, Comedy Award,

Women Composer Award
(B) Surdas Samman Award
(C) All of the above

43
-

(D) None of the above

/3-C 7

36. wit & Aa-w faerd v Aa A wEfA
Tt R7
(A) e 7w
B) v sz
(C) wam fie
(D) F1 MEm
37. Mew 9@ § Ra-m e g 27
(A) P s
(B) ARfH
(C) gl v
(D) HeHfF e
38. g WFR A F dada aag #
frarredt 70 m sisE Ige F0d 2
VA) FET TR
(B) g w=
(C) @ g
(D) =4 e
39. fava 1 ¥ 721 g (W) -7 27
(A) FHA D
(B) gt
(C) Ywafimn
(D) Tar fereht
40, TR ABCD % fa&d BD #i =i
135 cm ?1 3R P 3R Q H¥9: AABC 3in
AADC % %3 £, ql {@r@e pQ % &t 3
(A) 6 cm (B) 15 cm
(C) 45 cm (D) 3 em
41. CIPET & @ %31 &l o gfgmon %
# = s
(A) ufdm afv =l
(B) IW R gd
(C) aftam 3ir ufdm
(D) 9fém 3fv g

42. T T 99 A §

C

" £

43. i3 fire T8 WER (2018) T AR ¥ 83

:ﬁﬁn%%aﬁﬂﬁamﬁwﬁ
7
Lo ehamordt querr, w goER, Hfeen
TR R
(B) HUM T [N
(C) ¥t
(D) %3 & T
[ P.T.O.
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“ \\\'hh‘h e of the fallowing
Nr the shimulating effect
CA Tannmn
) Alkakad

.\Q-.\S\\an\a Javant
Provides a monthly
N ®8.000
© ®12.000

46. When dd th
launch?
Al 190

B 1942

() 1068

" (D None of the above

s reaponsible
of teap

B) Sternig
(D) Fla\'mu\id
Journalists Meet

pension scheme of
B ®10,000

D) ®15,000

¢ Nobel Prire in Ffmnnmir-s

C’f. T\n_ cim]ef touch each other internally,
ner radii are 2 em ang 3 cm. The
.bmest‘chord of the greater circle which
s outs?e the inner circle is of length
A) &3 em
B) 232 cmyv @7
(C) 3\6 em
D) +\2 em
48. For which game is the ‘Indira Gandhi
Gold Cup’ being awarded?
v{A) Women's Hockey
(B) Women's Football
(Q) Women's Cricket
(D) Women's Badminton

@lm,mmandchﬂdxmmemplwﬂ

to do a work in proportion of 1:2:3
and their wages are in the proportion of
_9:3:2.'When50mmmemployed.
their total wages of bill amount to
F4,5M.Wlntarcﬂ1eweeklywageapaid
to a man, a woman and a child in

rupees? gb = ‘rm

A 210, 105, 96" ! 1

4. Pty 3 A W @ ¥ I W0 g
INan) h;

(A) My (B) e

©) Newretre () e
&Y i)y e, st o A

7Ty wum R

W 38,000 (B) £10,000

{€)# 12,000 (D) €15,000
46, WA A AR e ) e #4 g7

(A) 1901

(B) 1942

(C) 1968

(D) 3w & & Ff

47.&1“%11%“!1@-{@“““!'

ﬁWﬂ2cmW3cmt|aﬁT'ﬂ
TR T A, D sl g F AW L, B
T R

(A) 6V3 cm
(B) 2V2 cm
(C) 3V6 cm
(D) 4V2 cm
48. ' e v w9 fm e ¥ P T A7
(A) wieen &

(B) wieen Feata
(C) witen frde
(D) witen defiem

49. T ¥ 9 70 ¥ forg goui, wfeenadt o
= Fafe 1:2: 3 % orgum i A sk
TR TR 6:3:2 % owm F {1 5@ s0
TRl €4,500 ¥ T -

(A) 210, 105, 80
(B) 210, 105, 70

|3%210, x ‘l;g ), " v i (C) 210, 105, 90
108, - - 0S26 4 By (D) 200, 105, 70
m) m: % F;fl"! . ] -,
mmmshﬂt%am of India is | (‘{E’ so'mmmhah%
(A) Mettur gorb |70 W
B) Rihand I [ B) fe=
w€) Tehri (€)
(D) Bhakra 05 (D) wrEg!
M
/3C 8

Download from www.MsEducationTv.com



féw: (W He 513 83) i@ s wm i w
wETa /A /Feea R wn R o 3w AR ),

O R e o o
., ) IGE N, IFW T
“w§ f wle o H0
(A) fren 6 afy
(B) mmma+ feufy
€ e feufa
YDy s it foufy
‘T@ i T 3 gl
@f(m;ﬁﬁgnﬁawm
(B) WIY-BATHE! G THETR YRV HTAl
(C) Y- 1 gem fF EEEa
(D) ¥R A AW B TH-TH T
53. ‘T¥ FH H A =
(A) $HHER F T I HAETGHA TR
AB) YEE R Y el T
() qivwdt e @ H
D) Iw Wi

f%w - (7 Ho 54 ™ 55) Frffiga 3 F w27
¥ T -2 T 9 AN

w—gﬁm
\B) T F e
(B) -3
©) Fot, i@
(D) wferE-Fedh, 7
55. 9213
) T
(B) UrEE-YrE
(C) Wu-NEHdl
@) =@
56. oyt F TR A FA A
(A) Al 78, AT TR
B) T A Frren, gReEE @
(©) (a) 3t (B) 3 '
D) A

57. Prafafas Fu@ w wm af

sym § ¥am e ' A, M, 8, § 3,
s 0, RAFAR @Y A
fRsfm A T, N deFa = A aw BEE
oo e and, a1adl

a, B, ¥, 9, 95, T, TFd A e 3
wd s 3}, g e B w3
wyi-gud] A M ol T A @ T A
vl -wud] # #)

T f il § el F B w1 ol
forn mn R7

(A) feeTe, YR

(B) e, ST
_(C) anfesmTel, neasTe
(D) HeFEH, NYEF

[l z L]
58. For favour of necessary action I

LA

(A) Ta T FA F fog
AB) A FrEaE % fog
(©) THa FE F fe

(D) R FHaTE ¥ fou

_mmmm%mm

[ g R EE
(B} @ ek

(B) SNl

(C) TR

(D) Hfveh

60. “Te W ¥ @ T’ T A ¥ PR
FH B?

(A) i

(B) #H

(C) =
VD) ¥ARH

61. ‘Tieh 6 e W R W I R
(A) et ) frea g R wA

(B) -FW N TG
(C) fircht F ST W & R
(D) 3T 3 T R g

9 [ P.T.O.
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(””‘ﬂ)l J (N"j)l'f_(%’ g
syt 420 gt 420 445" ] -

62. Ifa~x+y, b=x Yy c=x+2y, then
ﬁ di r.-?*bzmz-ab be - ca
?‘ q,jt 4;)(3
- 1

17
1.

is equal to

24 M s B) 1457
7;: ‘};} Mo o2 B) 7y

63. National Highway 55 connects Siliguri
and

(A) Salbari
(B) Dalkhola
L AC) Darjeeling
(D) None of the above

64. A dice is thrown four times and its
different positions are shown below.

r_é What number is opposite to the face
3 showing 2?
<& > <>
85
(A) 6 (B) 3
€ 4 (@) 5

What was the population of Panchiula
district according to 2011 Census?

(A) 561 lakh (B) 651 lakh
(C) 551 lakh (D) 661 lakh

According to given figure of dice, which
option is correct?

1
|62
3
4|5
6 A 6 2 6
2 6 1
2 5 3 i,(
(4) ( e b
67. Rani Rampal is associated with the
game of
(A)  golf (B) taekwondo
e hockey (D) gymnastics
/3-C

L

7 }
’“;l-m;

3) (#1497 ]
-x;j"’?f]—[z ¥

-
e a2
ﬁz-ﬁawx+y,b¢1“yﬁc=x*c: !
a? +b? +¢2 ~ab-be-
¥ ,
(A) 8y? (B) 14y
2
(€) 9y2 (D) 7y
63. T Tl 55 fereAryE! M .
]
(A) werarh
(B) rer@re
() zfifem
(D) Iofw & @ #§ TE

% W & AR TR
64'?@?33?@%{ mﬁﬁ@ﬁﬂé%lmm

e 2 % fata & - g ?7
8¢

(&) 6 B) 3

Cc 4 (D) 5

65. 2011 H FTOH F IFERX THFen o A

e e o7
LAY "5:61 T (B) 651 @@
(C) 551 @@ (D) 661 @
ss.ﬁa@wﬁ%ﬁﬁﬁﬂm-mu'eﬁm%?
1
6|2
| 3 |
4 T]
6 6 2
> |4 ]2 3 (6 561
(A) (B) (C) (D)
s7.n=nnmmmm____1&aﬁ%p
A Thew (B) i)
(C) !’l’!ﬁ . gt ‘D)ﬁm

10
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Directions (Q. Nos. 68 and 69) : Fill i fo AR =01 8 3 e
blanks from the options gr;ven gc,,,‘?:b?m the mm 68311:169) : AR fro o et
K.

=~ 13
68. 198.4195\3{85.’6169.21 e 68. 198, 194, 185, 169, ?_
A) 92 7y (B) 136 1 (A) 92 (B) 136
\(Gr 144 (D) 112 (C) 144 (D) 112
: ’; q?” @ DKM, FJP, HIS, JHV, ? 69. DKM, FJP, HIS, JHV, ?
¢ ¥ (A) LGY (B) HGY (A) LGY (B) HGY
pw (C) 1GZ (D) 1GY (C) 1GZ (D) IGY

c gV :
5 & PO The  density of population of | 70. 2011 H FAWA F FFEw TgAET A H

[ F J ~ Yamunanagar district according to 2011 SHEE F UAE R

C :
1GT Acns::em (A) 786 Wfd =i fhe o
(A) /sq. km
§HS (B) 678/sq. km (B) 678 Wf = Fo o
5| K (C) 687/sq. km ey 687 ufa =i fifo o
07 8§ (D) 768/sq. km (D) 768 ufa =i o o
WK P 71 The average of 10 numbers is 40-2, | 71+ 10 ¥ F shwa 402 #1 7w & 7@ v
Lt © Later it is found thattwonumbcrshavé Wﬁam@ﬁmm%mw%‘
IM N been wrongly added. The first is 18 vee dIrdfas e 4 18 wfuE ® 3w gHu
p— greater than the actual number and the 31 & WA W T F 13 A W™ R R
gov) second number added is 13 by mistake afga 3@ i
—— instead of 31. Find the correct average. (A) 498 (B) 402
(A) 498 AR (C) 456 (D) 384
(C) 456 (D) 384
N 72. faaftm c %1 9@ ®
72. The su.)uf'ce o'f vitamin C is A) Wﬁ* e
L4A) nitric 8ICId ' (B] tﬁ'ﬁ}-‘ i
(B) asco.rblc .ac1d () SR
(C) oxalic amfi D) A —
(D) maleic acid ‘
. 73. IR T U Ud w9 # Wd Wb Tl &, q 98
@lf a clock takes seven seconds to strike 2@ w B Fre T S
seven, how long will it take to strike ten? 3 X /
(A) 7 sec T hoes Feee (A) 7 ®e +
|8~ ) D (2 (B) 9 e
: - 7
M—l sec b . Lia () 102 Ao
2 Gots 2
|e
(D) None of the above ey (D) 394 & § B¢ 7
4)Literacy percent of Karnal district [ 74. 2011 H T F IFER FA@ e R
according to the 2011 Census was HERa F1 wiawa o1
(A) 8473 (A) 8473
(B) 6473 (B) 6473
(C) 7473 —C) 7473
(D) None of the above (D) 3w A A g TE
/3-C 11 [ P.T.O.

Download from www.MsEducationTv.com



5. In a family of 8 adults and some minors,

el

G

(0¥
5C
¢

C &
\q}

U3

¢}

76.

g

77.

\78/Sex ratio of the population of Karnal

120X

\.M/v_rw.

e ave consumption of rice per
It'll;ad pc?s:::onth is 10'8 kg, while the
average consumption for adults is 15 kg
per head and for minors it is 6 kg per
head. The number of minors in the

family is
(A) 8 (B) 6
© 7 oy

Vikram Sarabhai Space Centre (VSSC)
is at
(A) Thiruvananthapuram
(B) Mumbai

Hyderabad
(D) Bengaluru
Choose the correct alternative from the
following that will continue the same
pa re e stio k;
aﬁﬁ%&% 1, 34,2
W 42— Era—
(€ S1 (D) 52

district was ____ according to the 2011
Census.

(A) 888 (B) 886
(C) 887 (D) 881
\TQ/Wh.ich of the following were the most
affected districts of Haryana by
Satyagraha in support of Hindi?
(A) Rohtak, Hisar
(B) Sirsa, Fatehabad
(C) Panchkula, Yamunanagar
(D) Mahendragarh, Rewari
80. In the following question, arrange the
given words in a meaningful sequence
and then choose the most appropriate
sequence from the alternatives provided
below :
1. Elephant 32415
2. Cat
3. Mosquitp
4. Tiger’
S. Whale
A 1,23 5 4
B) 2,5 1,43
U 3,2,4,1,5
D) 5,3, 1,2 4
/3-C 12

76.

7.

78.

Bo.

ﬁqﬁmaﬁﬁmaﬁgﬁwmﬂﬁ*
F A @M 3R yA-Fg % WH | S0 ¢
3,477 13, 13,21, 22,31, 34, ?

(&) 42 (B) 43

(C) 51 (D) 52

2011 H FIEF F FFER FEE Bt A
SEE 1 fom-3ame o

(A) 888 JB) 886

(D) 881

i

SOSSENE ¢

lt)l--'-bf.rl
A 00w p

-
-

CICICE R
O W -
e o
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81. The growth rate of the population of

Y

Haryana in the decade 2001-2011 was
(A) 17-99,

(B) 18:9%

\Aﬁ] 19‘90/0

&5

(D) 20-9%,

A purse containg ® |

‘ onte 50 paise and
25 paise coins in the ratio 4:5): 6. If the
fq\ total value of the coins is ¥48, find the
'y number of 50 paise coins,
QM i &)1 pratesied
e ) 20V dn 5.4 bx
L f,, ‘ 2 Yy
% D) 30 gx= #§
®h
g }:} t percentage of the total geographical
© area of Haryana is wooded (forest area)?
v1a) 391%
(B) 3-51%
©) 341%

*ﬂ)] 3-19%

84.

Which one of the following is the wettest
place in India?

(A) Udhagamandalam
(B) Mahabaleshwar
(C) Tamhini Ghat

P) Mawsynram

85. The term to be added to 121a2 +64b2 to
make a perfect square is
A 176ab X8 x2
(B) 276a?b @
(C) 178ab
(D) 188b2a
/3-C
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13

81.

83.

ZF 2001-2011 § wfamn A FAEEn N
ferrmm 21 off

(A)
(B)
(€)
(D)

17-9%
18:9%
19-9%
209%

A A 01, 50 ¥ 3 25 ¥ ¥ 3w Rk
4:5;6%Tiinuﬁmmaﬁr3ﬁ
T €48 R, M 3@ agw A 50 4 F B
fer %7

(A)
(B)
(€
(D)

15

20

25

30

T & g s 4 1 e wRme
T ST=BIT 7

(A) 391%

(B) 351%

C) 3-41%

(D) 3-19%

84. 1= & § wia ¥ v g (avfaren) ww

FE-7 7

(A) IeTEEw
(B) WERIvEt
(C) et =
(D) ifTm

85. T T & ¥R & fo1g 121a2 + 6452 & ey

TN T 9E R
(A) 176ab

(B) 276a%b
(C) 178ab

(D) 188b2%a

[ PT.O.



Directions (Q. Nos. 86 and 87) : Each of the
questions given below consists of a word in
capital letters followed by four words, Choose
the word that is most nearly opposite in
meaning to the word in capital letters and
write the word of your choice on your answer
paper :

86. EXASPERATE

(A) Confide \{B7” Formalize

(C) Placate (D) Betray
87. DEARTH

(A) Life uB) Abundance

(C) Brightness (D) Terror
Directions (Q. Nos. 88 and 89) : Each of
the following sentence completion questions
contains one blank. This blank signifies that a
word has been left out. Below each sentence
there are four words. For each blank, pick the
word that best reflects the sentence’s overall
meaning :
88. The newest fiber-optic cables that carry
telephone calls cross-country are made
of glass so that a piece 100 miles

thick is clearer than a standard
windowpane.

(A) fragile (B) immaculate
(C) tangible ((D¥ transparent

89. The reasoning in this editorial is so
that we cannot see how anyone can be
deceived by it.

(A) coherent
ue)

Directions (Q. Nos. 90 and 91) : In the
following questions, four alternatives are given
for the idioms/phrases. Choose the one which
best expresses the meaning of the given
idiom/phrase :

(B) astute

cogent (D) specious

90. To make mincemeat
(A) Copy the appearance of somebody
(B) Take care of something
(C) Refute utterly
) Have the same opinion
91. To carry the conviction
(A) Be extremely fond of anything
\{-I‘B] Bear the proof of the truth
tAC) Feel displeasure
(D) Make overtures of reconciliation

/3-C

is given below
d answer the

92. A small paragrapll*l
followed by a question
paragraph carefully an
question ; wai i podl ke

aid tha -

Er:;lr:f;. a:alord, airlord. The flight o;
imagination made the poct’master of
land, sea and air. But a poet’s dream o
yesterday becomes today an actual
achievement and a reality for all men.
Even those who invented, improved and
perfected the aeroplane could hardly
have dreamt of the possibility of flight
into outer space.
The passage
statement that _
(A) ‘seemingly impossible imaginations

make one a good poet’.
(B) ‘all imaginations become a reality

some day’.

() ‘what man imagined has never been

impossible; he has always turned it

a reality through his conception of
ideas and sheer hard labour’.

(D) ‘man has reached the climax of

technological development with his
exploration into outer space’.

Directions (Q. Nos. 93 and 94) : In each
question below are given two sentences
numbered I and II. In these sentences, two
homonyms are given in italics type, which
may be either misspelt or inappropriate in the
context of the sentences. Read both the
sentences carefully and decide on their
correctness on the basis of the italicised
words. Study the four alternatives and select
your answer :

(A) Only sentence I is correct
(B) Only sentence II is correct

(C) Both the sentences I and II are
correct

(D) I as well as II are incorrect, but
both could be made correct by
interchanging the italicised words

This is the best stationa h i
our locality. b

I saw a Stationery van there.

best supports the

94, 1. He is wrapt up in pleasurable
ﬁ contemplation.
Il. I listened to her so

- ;
attention. & Wit

14
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95. In which of
Chhachhrauli,

th}e: following places is
covering 63 sq

lE'Wih.g A vast area
- km, situated?

WY Yamunanagar

(D) Jind

' . ot 1 hour and if they travel
N same direction (from A to Ej; t?::n

ihey dmcet after 6 hours. What is the
peed of the car starting from A?
(A) 70 km/hr

(B) 120 km/hr
(C) 60 km/hr
(D) None of the above

97. In which of the following djstri.cts of

Haryana the famous Brahma Sarovar is
located?

(A) Jind (B) Mahendragarh

C) Kurukshetra (D) Sonipat

L@ The Konkan Railway connects
* (A) Goa-Mangalore
(B) Roha-Mangalore
WE] Kanyakumari-Mangalore
(D) Kanyakumari-Mumbai

99. Which of the following districts of
Haryana is the worst in sex ratio of

population according to the 2011
Census?

(A) Ambala (B) Rohtak

“C) Gurugram (D) Faridabad

100. A runs two times faster than B and
B runs three times faster than C.
If C. covers a distance in
1 hour 54 minutes, then the time taken
by B to cover the same distance is

(A) 19 minutes C -+ LY min
\/B) 38 minutes "
(C) 51 minutes . g— 39
(D) 57 minutes *<
/3-C

98, 63 a1 fo o # fi

96.

97.

98.

99.

100.

15r g

e & @ P 2o B fiia A7
(B) T
(D)

(A) Tl

(C) weraeh

2 migat vF A 7w
A120km 7 %, 2
foaf Ramaft # =@, A
v af2 3 e frm A

(A) 70 km/hr
(B) 120 km/hr

€] 60 km/hr

(D) 3% # @ = 7

Freafiiftaa 3 @ vftrg 7@ =i g  frm
Frdt 3 srafira 7
(a) i

(C) Fok

i e wred ¥
(A) TEITRAR B
(B) Tg-HrTeir
(€) Frgr-sreh )
(D) - A

2011 N SO F
Prefafes ¥ A FR-

fem-arguma & wad i 27

(A) ST (B) TeaH

(©) TEm (D) HiRmER

A, BR 3T 1fa 3lk B, c A & T R A
malﬁcﬁi{ﬂ 21 54 fire 3 72

1 %
w@ R, @ BT I g W A
A

(A)
(B)
(C)
(D)

(B) #ZTR
(D) HHA

, BEmn
T F

19 fire
38 fime
51 fire
57 fime

[ P.T.O.
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